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Points P ( Py ) and w are given as shown in the figure.

In the vector equation P = po +t U .
Show the position of point P corresponding to ¢t = —1, 0, 1, 2.
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% A(x0,50). u=(a,b)= blx—x)— aly—yo) =0
Express the straight line that passes through point A and whose direction
vector is u as a parametric variable.

Also, express this straight line in the formax+ by +c¢=0.
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% A(xo,y0), =(a,b) = alx—x0)+ bly—yg) = 0
Find the equation of the straight line passing through point A and
perpendicular to vector n.
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7 x(x—5)+2 x(y —7)=0
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t=-1,0,0.5, 12@&%@P@u %lrﬁ;
The position vector of point P on the straight line passing through

pointA<?)and B<?)is ?:( 1— t)?+ t ?
Draw the position of P when ¢t = —1,0,1,2.
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Ilustrate the range in which point P exists when s = 0, ¢ = 0.
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Find the equation of the straight line passing through point A and
Points P ( Py ) and w are given as shown in the figure.

perpendicular to vector n.

. v —_—
In the vector equation p = po +¢t U . 151 RE A(I,Z), n:(3’4)
Show the position of point P corresponding to ¢t = —1, 0, 1, 2.
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Express the straight line that passes through point A and whose direction
vector is ? as a parametric variable.
Also, express this straight line in the formax+ by +c¢=0.
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Ilustrate the range in which point P exists when s = 0, ¢ = 0.
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—1,0,1,2 { 7%‘%?5“\ wP @fi /TiJCJ:o Find t}:; eoiuation of the straight line passing through point A and
perpendicular to vector n.
Points P ( Py ) and ? are given as shown in the figure. AR =N
In the vector equation p = ?o+t ? 151 #A A(4,_1), :(1,3)
Show the position of point P corresponding to t = —1, 0, 1, 2. 7 % (x *4) 13 x (y + /):
7w HA D
11l 2 [ x+2y—7=0
bAED —>
N . HE A(—4,3), n=(2,1)
i o
b 2
R A
U \
‘ o !
Th gz tt<’(¢ [ AR AR VA )
2. MA%IE D,u%ﬁﬁmﬁka?éﬁﬁ%ﬁﬁ%ﬁ
Vrd L nEHL bbb
%TV@:JQ ¥/, axtbytc =00 TxHE, Th <w 9 B br<¥ALLH
, — 4. iAa(a )kﬁ‘ (B )&- é‘ﬁfﬁi:@“\PQML%
% A(x,50), u=(a,b)= blx—x)— aly—yo) = 0 .
«7%»1 Ofw)a+t b?ﬁz%ﬂé

Express the straight line that passes through point A and whose direction

vector is # as a parametric variable.
Also, express this straight line in the formax+ by +c¢=0.

big A(2,1), w=(1,-3)
{x2+/t @
y=7—3t ¢
3 x(x—2)—7 x(y —7)=0
—3x— y+7=0 or 3 x+7y—7=0
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t=-1,0,0.5, 12@&%@P@u %lrﬁ;
The position vector of point P on the straight line passing through

pointA<?)and B<?)is ?:(lft)?+t?.
Draw the position of P when ¢t = —1,0,1,2.
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Illustrate the range in which point P exists when s = 0, ¢ = 0.
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